

Mathematical Analysis and Applications (Editor Th. M. Rassias)
Hadronic Press, Inc., Florida, 1999, pp. 183-196.

$$\sum_{\substack{m, n = -\infty \\ (m, n) \neq (0, 0)}}^{\infty} \frac{(-1)^m}{m^2 + \lambda n^2} \text{ AND RELATED SERIES}$$

ZHANG NAN-YUE

*Information Department, People's University of China
Beijing 100872, People's Republic of China*

KENNETH S. WILLIAMS

*School of Mathematics and Statistics, Carleton University
Ottawa, Ontario, Canada K1S 5B6*

ABSTRACT

Let a, b, c be real numbers with $a \neq 0$. The explicit evaluation of the infinite series

$$\sum_{\substack{n = -\infty \\ an^2 + bn + c \neq 0}}^{\infty} \frac{1}{an^2 + bn + c} \text{ and } \sum_{\substack{n = -\infty \\ an^2 + bn + c \neq 0}}^{\infty} \frac{(-1)^n}{an^2 + bn + c}$$

is carried out and applied to the evaluation of double infinite series of the type specified in the title.

1. Introduction

Recently Li Jian Lin[4] determined the sum $S(a, b)$ of the infinite

Research of the first author was supported by the National Natural Science Foundation of China.

Research of the second author was supported by the Natural Sciences and Engineering Research Council of Canada Grant A-7233.

1991 AMS Subject Classification: 40A25, 11E16.

series $\sum_{\substack{n=-\infty \\ n \neq 0}}^{\infty} \frac{(-1)^{n+1}}{an^2+bn}$, where a and b are real numbers with $a > b > 0$.

Prior to this evaluation a number of authors [1], [3], [5], [7] had found the value of $S(3, 1)$, which had occurred originally in the work of Turan [9].

We begin by giving a simpler determination of $S(a, b)$ than that in [4] by making use of the infinite partial fraction expansion of $\csc \pi z$ (z a complex number):

$$\pi \csc \pi z = \frac{1}{z} + \sum_{n=1}^{\infty} (-1)^n \left(\frac{1}{z-n} - \frac{1}{z+n} \right) \quad (z \notin Z) \quad (1)$$

where Z denotes the set of integers.

Theorem. (Li Jian Lin [4]) *Let a and b be real numbers with $a \neq 0$ and $b/a \notin Z$. Then*

$$\sum_{\substack{n=-\infty \\ n \neq 0}}^{\infty} \frac{(-1)^n}{an^2+bn} = \frac{1}{b} (a/b - \pi \csc b\pi/a).$$

Proof. We have

$$\begin{aligned} \sum_{\substack{n=-\infty \\ n \neq 0}}^{\infty} \frac{(-1)^n}{an^2+bn} &= \frac{1}{a} \sum_{n=1}^{\infty} (-1)^n \left(\frac{1}{n^2 + \frac{b}{a}n} + \frac{1}{n^2 - \frac{b}{a}n} \right) \\ &= -\frac{1}{b} \sum_{n=1}^{\infty} (-1)^n \left(\frac{1}{\frac{b}{a} - n} + \frac{1}{\frac{b}{a} + n} \right) \\ &= -\frac{1}{b} (\pi \csc b\pi/a - a/b). \quad \square \end{aligned}$$

Using the ideas of this proof and the infinite partial fraction expansion of $\cot \pi z$:

$$\pi \cot \pi z = \frac{1}{z} + \sum_{n=1}^{\infty} \left(\frac{1}{z-n} + \frac{1}{z+n} \right) \quad (z \notin Z) \quad (2)$$

we obtain the following generalization of Lin's theorem.

Theorem 1. Let a, b, c be real numbers with $a \neq 0$. Let α and β be the roots of the quadratic equation $az^2 + bz + c = 0$. Then

$$\sum_{\substack{n=-\infty \\ an^2+bn+c \neq 0}}^{\infty} \frac{1}{an^2+bn+c} = \begin{cases} \frac{-\pi(\cot \alpha\pi - \cot \beta\pi)}{a(\alpha-\beta)}, & \text{if } \alpha \neq \beta, \alpha \notin Z, \beta \notin Z, \\ \frac{1}{a(\alpha-\beta)^2} + \frac{\pi \cot \beta\pi}{a(\alpha-\beta)}, & \text{if } \alpha \neq \beta, \alpha \in Z, \beta \notin Z, \\ \frac{2}{a(\alpha-\beta)^2}, & \text{if } \alpha \neq \beta, \alpha \in Z, \beta \in Z, \\ \frac{\pi^2 \csc^2 \alpha\pi}{a}, & \text{if } \alpha = \beta \notin Z, \\ \frac{\pi^2}{3a}, & \text{if } \alpha = \beta \in Z, \end{cases}$$

and

$$\sum_{\substack{n=-\infty \\ an^2+bn+c \neq 0}}^{\infty} \frac{(-1)^n}{an^2+bn+c} = \begin{cases} \frac{-\pi(\csc \alpha\pi - \csc \beta\pi)}{a(\alpha-\beta)}, & \text{if } \alpha \neq \beta, \alpha \notin Z, \beta \notin Z, \\ \frac{(-1)^\alpha}{a(\alpha-\beta)^2} + \frac{\pi \csc \beta\pi}{a(\alpha-\beta)}, & \text{if } \alpha \neq \beta, \alpha \in Z, \beta \notin Z, \\ \frac{(-1)^\alpha + (-1)^\beta}{a(\alpha-\beta)^2}, & \text{if } \alpha \neq \beta, \alpha \in Z, \beta \in Z, \\ \frac{\pi^2 \csc \alpha\pi \cot \alpha\pi}{a}, & \text{if } \alpha = \beta \notin Z, \\ (-1)^{\alpha+1} \frac{\pi^2}{6a}, & \text{if } \alpha = \beta \in Z. \end{cases}$$

Proof. We just treat $\sum_{\substack{n=-\infty \\ an^2+bn+c \neq 0}}^{\infty} \frac{1}{an^2+bn+c}$ when $\alpha \neq \beta, \alpha \notin Z, \beta \notin Z$,

as the remaining cases are very similar. In this case we have

$$\begin{aligned} & \sum_{\substack{n=-\infty \\ an^2+bn+c \neq 0}}^{\infty} \frac{1}{an^2+bn+c} \\ &= \sum_{n=-\infty}^{\infty} \frac{1}{a(n-\alpha)(n-\beta)} \\ &= \frac{1}{a\alpha\beta} + \frac{1}{a} \sum_{n=1}^{\infty} \left(\frac{1}{(n-\alpha)(n-\beta)} + \frac{1}{(n+\alpha)(n+\beta)} \right) \\ &= \frac{1}{a\alpha\beta} - \frac{1}{a(\alpha-\beta)} \sum_{n=1}^{\infty} \left(\frac{1}{\alpha-n} + \frac{1}{\alpha+n} - \frac{1}{\beta-n} - \frac{1}{\beta+n} \right) \end{aligned}$$

$$\begin{aligned}
&= \frac{1}{a\alpha\beta} - \frac{1}{a(\alpha - \beta)} \left(\left(\pi \cot \alpha\pi - \frac{1}{\alpha} \right) - \left(\pi \cot \beta\pi - \frac{1}{\beta} \right) \right) \quad (\text{by (2)}) \\
&= \frac{-\pi(\cot \alpha\pi - \cot \beta\pi)}{a(\alpha - \beta)}. \quad \square
\end{aligned}$$

As a check on our calculations we note that Theorem 1 is consistent with the relation

$$\sum_{\substack{n=-\infty \\ an^2+bn+c \neq 0}}^{\infty} \frac{1}{an^2+bn+c} + \sum_{\substack{n=-\infty \\ an^2+bn+c \neq 0}}^{\infty} \frac{(-1)^n}{an^2+bn+c} = 2 \sum_{\substack{n=-\infty \\ 4an^2+2bn+c \neq 0}}^{\infty} \frac{1}{4an^2+2bn+c}.$$

2. Applications of Theorem 1

As an application of Theorem 1, we make use of it in the evaluation of the series

$$\begin{aligned}
\sigma_1(b) &= \sum'_{m,n=-\infty}^{\infty} \frac{(-1)^m}{m^2 + b^2n^2}, \\
\sigma_2(b) &= \sum'_{m,n=-\infty}^{\infty} \frac{(-1)^{m+n}}{m^2 + b^2n^2}, \\
\sigma_3(b) &= \sum'_{m,n=-\infty}^{\infty} \frac{(-1)^n}{m^2 + b^2n^2},
\end{aligned}$$

where b is a positive real number and the prime (') indicates that $(m, n) = (0, 0)$ is omitted. More general series than these have been treated by Zucker and Robertson [11] and Zucker [12] by different techniques. It should be noted that the series $\sum'_{m,n=-\infty}^{\infty} \frac{1}{m^2 + b^2n^2}$ diverges as

$$\sum'_{m,n=-\infty}^{\infty} \frac{1}{m^2 + b^2n^2} \geq \frac{1}{(1+b^2)} \sum'_{m,n=-\infty}^{\infty} \frac{1}{m^2 + n^2} \geq \frac{1}{(1+b^2)} \sum_{p \equiv 1 \pmod{4}} \frac{1}{p},$$

since every prime $p \equiv 1 \pmod{4}$ is the sum of two integral squares and the series $\sum_{p \equiv 1 \pmod{4}} \frac{1}{p}$ is known to be divergent.

The roots of $z^2 + b^2n^2 = 0$ are $\alpha = ibn$ and $\beta = -ibn$, which are distinct and non-integral provided $n \neq 0$. Hence, by Theorem 1, we have for $n \neq 0$

$$\begin{aligned} \sum_{m=-\infty}^{\infty} \frac{(-1)^m}{m^2 + b^2n^2} &= -\frac{\pi}{2ibn} (\csc(ib\pi n) - \csc(-ib\pi n)) \\ &= \frac{i\pi}{bn} \csc(ib\pi n) \\ &= \frac{\pi}{b} \frac{1}{n \sinh(b\pi n)}, \end{aligned}$$

and so

$$\sum_{\substack{n=-\infty \\ n \neq 0}}^{\infty} \sum_{m=-\infty}^{\infty} \frac{(-1)^m}{m^2 + b^2n^2} = \frac{2\pi}{b} \sum_{n=1}^{\infty} \frac{1}{n \sinh(b\pi n)}.$$

Thus

$$\sigma_1(b) = \sum'_{m,n=-\infty}^{\infty} \frac{(-1)^m}{m^2 + b^2n^2} = \sum_{\substack{n=-\infty \\ n \neq 0}}^{\infty} \sum_{m=-\infty}^{\infty} \frac{(-1)^m}{m^2 + b^2n^2} + \sum_{\substack{m=-\infty \\ m \neq 0}}^{\infty} \frac{(-1)^m}{m^2},$$

that is

$$\sigma_1(b) = \frac{2\pi}{b} \sum_{n=1}^{\infty} \frac{1}{n \sinh(b\pi n)} - \frac{\pi^2}{6}. \quad (3)$$

Similarly we can show

$$\sigma_2(b) = \sum'_{m,n=-\infty}^{\infty} \frac{(-1)^{m+n}}{m^2 + b^2n^2} = \frac{2\pi}{b} \sum_{n=1}^{\infty} \frac{(-1)^n}{n \sinh(b\pi n)} - \frac{\pi^2}{6}. \quad (4)$$

For $\sigma_3(b)$ it is sufficient to observe that

$$\sigma_3(b) = \frac{1}{b^2} \sigma_1(1/b). \quad (5)$$

Next we evaluate $\sum_{n=1}^{\infty} \frac{1}{n \sinh(b\pi n)}$ and $\sum_{n=1}^{\infty} \frac{(-1)^n}{n \sinh(b\pi n)}$. We set $\lambda = b^2$, so that $b = \sqrt{\lambda}$, and $q = e^{-b\pi} = e^{-\pi\sqrt{\lambda}}$, so that $0 < q < 1$. Then

$$\sum_{n=1}^{\infty} \frac{1}{n \sinh(b\pi n)} = 2 \sum_{n=1}^{\infty} \frac{1}{n (e^{b\pi n} - e^{-b\pi n})}$$

$$\begin{aligned}
&= 2 \sum_{n=1}^{\infty} \frac{1}{n} \frac{e^{-b\pi n}}{(1 - e^{-2b\pi n})} \\
&= 2 \sum_{n=1}^{\infty} \frac{1}{n} \sum_{m=1}^{\infty} e^{-b\pi n(2m-1)} \\
&= 2 \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{1}{n} (q^{2m-1})^n \\
&= -2 \sum_{m=1}^{\infty} \log(1 - q^{2m-1}),
\end{aligned}$$

that is

$$\sum_{n=1}^{\infty} \frac{1}{n \sinh(b\pi n)} = -2 \log \prod_{m=1}^{\infty} (1 - q^{2m-1}). \quad (6)$$

Similarly we find

$$\sum_{n=1}^{\infty} \frac{(-1)^n}{n \sinh(b\pi n)} = -2 \log \prod_{m=1}^{\infty} (1 + q^{2m-1}). \quad (7)$$

Ramanujan [6, eqns. (1), (2)] has defined positive algebraic numbers g_λ and G_λ , where λ is a positive rational number, by

$$\prod_{m=1}^{\infty} (1 - q^{2m-1}) = 2^{1/4} e^{-\frac{\pi\sqrt{\lambda}}{24}} g_\lambda, \quad \prod_{m=1}^{\infty} (1 + q^{2m-1}) = 2^{1/4} e^{-\frac{\pi\sqrt{\lambda}}{24}} G_\lambda, \quad (8)$$

and noted the properties [6, eqns. (5), (6), (7)]

$$\begin{cases} g_{4\lambda} = 2^{1/4} g_\lambda G_\lambda, \\ G_\lambda = G_{1/\lambda}, \quad 1/g_\lambda = g_{4/\lambda}, \\ (g_\lambda G_\lambda)^8 (G_\lambda^8 - g_\lambda^8) = 1/4. \end{cases} \quad (9)$$

Thus, from (6), (7) and (8), we obtain

Theorem 2.

$$\sum_{n=1}^{\infty} \frac{1}{n \sinh(b\pi n)} = \frac{b\pi}{12} - \log(\sqrt{2} g_{b^2}^2), \quad (10)$$

$$\sum_{n=1}^{\infty} \frac{(-1)^n}{n \sinh(b\pi n)} = \frac{b\pi}{12} - \log(\sqrt{2} G_{b^2}^2). \quad (11)$$

Then appealing to (3), (4), (5), (9), (10) and (11), we deduce

Theorem 3.

$$\sum'_{m,n=-\infty}^{\infty} \frac{(-1)^m}{m^2 + b^2 n^2} = -\frac{\pi}{b} \log(2g_{b^2}^4), \quad (12)$$

$$\sum'_{m,n=-\infty}^{\infty} \frac{(-1)^{m+n}}{m^2 + b^2 n^2} = -\frac{\pi}{b} \log(2G_{b^2}^4), \quad (13)$$

$$\sum'_{m,n=-\infty}^{\infty} \frac{(-1)^n}{m^2 + b^2 n^2} = \frac{\pi}{b} \log(g_{b^2}^4 G_{b^2}^4). \quad (14)$$

The quantities g_λ and G_λ are given by (see [6, p. 27])

$$g_\lambda = 2^{-1/4} f_1(\sqrt{-\lambda}), \quad G_\lambda = 2^{-1/4} f(\sqrt{-\lambda}), \quad (15)$$

where the functions $f_1(z)$ and $f(z)$ are defined in terms of the Dedekind eta function

$$\eta(z) = e^{\pi iz/12} \prod_{m=1}^{\infty} (1 - e^{2\pi imz}) \quad (z = x + iy, y > 0) \quad (16)$$

by

$$f_1(z) = \frac{\eta(z/2)}{\eta(z)}, \quad f(z) = e^{-\frac{\pi i}{24}} \frac{\eta((z+1)/2)}{\eta(z)}, \quad (17)$$

see for example [10, p. 114]. Tables of $f_1(\sqrt{-\lambda})$ and $f(\sqrt{-\lambda})$ for certain positive integral values of λ are given in [10, Table VI] and values of g_λ and G_λ in [6, Table I]. From the last equation in (9), we see that the quantities g_λ and G_λ are not independent. Given one of them we show how to find the other. Writing the last equation in (9) as

$$4g_\lambda^8 G_\lambda^{16} - 4g_\lambda^{16} G_\lambda^8 - 1 = 0, \quad (18)$$

and solving (18) for G_λ^8 , we obtain

$$G_\lambda^8 = \frac{g_\lambda^{12} \pm \sqrt{g_\lambda^{24} + 1}}{2g_\lambda^4}.$$

However, G_λ is real so that

$$G_\lambda = \left(\frac{g_\lambda^{12} + \sqrt{g_\lambda^{24} + 1}}{2g_\lambda^4} \right)^{1/8}. \quad (19)$$

Further, rewriting (18) as

$$4G_\lambda^8 g_\lambda^{16} - 4G_\lambda^{16} g_\lambda^8 + 1 = 0,$$

and solving for g_λ^8 , we deduce

$$g_\lambda^8 = \frac{G_\lambda^{12} \pm \sqrt{G_\lambda^{24} - 1}}{2G_\lambda^4}. \quad (20)$$

We now determine the correct sign in (20). As g_λ is real we must have

$$G_\lambda \geq 1. \quad (21)$$

From this point on we assume that $\lambda \geq 1$ since we shall apply our results with λ a positive integer. Clearly, from (8), we see that g_λ is a strictly increasing function of λ so that

$$g_\lambda > g_1 \quad (\lambda > 1). \quad (22)$$

From Table VI in [10] we have $f(\sqrt{-1}) = 2^{1/4}$ so that $G_1 = 1$ by (15). Hence, by (20), $g_1^8 = 1/2$ so $g_1 = 2^{-1/8}$, and thus (22) becomes

$$g_\lambda > 2^{-1/8} \quad (\lambda > 1). \quad (23)$$

Assume now that there is a value of $\lambda (> 1)$, say $\lambda = \lambda_0$, for which the minus sign holds in (20). Then, appealing to (21), we deduce

$$g_{\lambda_0}^8 = \frac{G_{\lambda_0}^{12} - \sqrt{G_{\lambda_0}^{24} - 1}}{2G_{\lambda_0}^4} = \frac{1}{2G_{\lambda_0}^4 (G_{\lambda_0}^{12} + \sqrt{G_{\lambda_0}^{24} - 1})} \leq \frac{1}{2},$$

which contradicts (23). Hence the plus sign must hold in (20) for $\lambda \geq 1$, that is,

$$g_\lambda = \left(\frac{G_\lambda^{12} + \sqrt{G_\lambda^{24} - 1}}{2G_\lambda^4} \right)^{1/8}. \quad (24)$$

Appealing to the first six values in Table VI of [10], we have

$$\begin{aligned} f(\sqrt{-1}) &= 2^{1/4}, \quad f_1(\sqrt{-2}) = 2^{1/4}, \quad f(\sqrt{-3}) = 2^{1/3}, \\ f_1(\sqrt{-4}) &= 2^{3/8}, \quad f(\sqrt{-5}) = (1 + \sqrt{5})^{1/4}, \quad f_1(\sqrt{-6}) = (4 + 2\sqrt{2})^{1/6} \end{aligned}$$

where the value of $f_1(\sqrt{-4})$ has been replaced by its correct value. Thus, by (15), we deduce

$$\begin{aligned} G_1 &= 1, \quad g_2 = 1, \quad G_3 = 2^{1/12}, \\ G_4 &= 2^{1/8}, \quad G_5 = 2^{-1/4}(1 + \sqrt{5})^{1/4}, \quad g_6 = 2^{-1/4}(4 + 2\sqrt{2})^{1/6}. \end{aligned}$$

Appealing to (19) and (24), we obtain

$$\begin{aligned} g_1 &= 2^{-1/8}, \quad G_2 = 2^{-1/8}(\sqrt{2} + 1)^{1/8}, \quad g_3 = 2^{-1/6}(2 + \sqrt{3})^{1/8}, \\ G_4 &= 2^{-3/16}(1 + \sqrt{2})^{1/4}, \quad g_5 = 2^{-1/4}(3 + \sqrt{5} + 2\sqrt{2 + 2\sqrt{5}})^{1/8}, \\ G_6 &= 2^{-1/8}(1 + \sqrt{2})^{-1/12}(2 + \sqrt{3})^{1/8}(\sqrt{2} + \sqrt{3})^{1/8}. \end{aligned}$$

Making use of these values in Theorem 2 and 3, we deduce

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{1}{n \sinh(\pi n)} &= \frac{\pi}{12} - \frac{1}{4} \log 2, \\ \sum_{n=1}^{\infty} \frac{(-1)^n}{n \sinh(\pi n)} &= \frac{\pi}{12} - \frac{1}{2} \log 2, \\ \sum_{n=1}^{\infty} \frac{1}{n \sinh(\sqrt{2} \pi n)} &= \frac{\sqrt{2}}{12} \pi - \frac{1}{2} \log 2, \\ \sum_{n=1}^{\infty} \frac{(-1)^n}{n \sinh(\sqrt{2} \pi n)} &= \frac{\sqrt{2}}{12} \pi - \frac{1}{4} \log(1 + \sqrt{2}) - \frac{1}{4} \log 2, \\ \sum_{n=1}^{\infty} \frac{1}{n \sinh(\sqrt{3} \pi n)} &= \frac{\sqrt{3}}{12} \pi - \frac{1}{4} \log(2 + \sqrt{3}) - \frac{1}{6} \log 2, \\ \sum_{n=1}^{\infty} \frac{(-1)^n}{n \sinh(\sqrt{3} \pi n)} &= \frac{\sqrt{3}}{12} \pi - \frac{2}{3} \log 2, \\ \sum_{n=1}^{\infty} \frac{1}{n \sinh(2\pi n)} &= \frac{\pi}{6} - \frac{3}{4} \log 2, \end{aligned}$$

$$\begin{aligned}
\sum_{n=1}^{\infty} \frac{(-1)^n}{n \sinh(2\pi n)} &= \frac{\pi}{6} - \frac{1}{2} \log(1 + \sqrt{2}) - \frac{1}{8} \log 2, \\
\sum_{n=1}^{\infty} \frac{1}{n \sinh(\sqrt{5} \pi n)} &= \frac{\sqrt{5}}{12} \pi - \frac{1}{4} \log(3 + \sqrt{5} + 2\sqrt{2 + 2\sqrt{5}}), \\
\sum_{n=1}^{\infty} \frac{(-1)^n}{n \sinh(\sqrt{5} \pi n)} &= \frac{\sqrt{5}}{12} \pi - \frac{1}{2} \log(1 + \sqrt{5}), \\
\sum_{n=1}^{\infty} \frac{1}{n \sinh(\sqrt{6} \pi n)} &= \frac{\sqrt{6}}{12} \pi - \frac{1}{3} \log(4 + 2\sqrt{2}), \\
\sum_{n=1}^{\infty} \frac{(-1)^n}{n \sinh(\sqrt{6} \pi n)} &= \frac{\sqrt{6}}{12} \pi - \frac{1}{4} \log 2 \\
&\quad + \frac{1}{6} \log(1 + \sqrt{2}) - \frac{1}{4} \log(2 + \sqrt{3}) - \frac{1}{4} \log(\sqrt{2} + \sqrt{3}),
\end{aligned}$$

and the following values of $\sigma_1(b)$, $\sigma_2(b)$, $\sigma_3(b)$ for $b = \sqrt{\lambda}$, $\lambda = 1, 2, \dots, 6$:

$$\begin{aligned}
\sigma_1(1) &= -\frac{\pi}{2} \log 2, \\
\sigma_1(\sqrt{2}) &= -\frac{\pi}{\sqrt{2}} \log 2, \\
\sigma_1(\sqrt{3}) &= -\frac{\pi}{3\sqrt{3}} \log 2 - \frac{\pi}{2\sqrt{3}} \log(2 + \sqrt{3}), \\
\sigma_1(2) &= -\frac{3\pi}{4} \log 2, \\
\sigma_1(\sqrt{5}) &= -\frac{\pi}{2\sqrt{5}} \log(3 + \sqrt{5} + 2\sqrt{2 + 2\sqrt{5}}), \\
\sigma_1(\sqrt{6}) &= -\frac{2\pi}{3\sqrt{6}} \log(1 + \sqrt{2}) - \frac{\pi}{\sqrt{6}} \log 2, \\
\sigma_2(1) &= -\pi \log 2, \\
\sigma_2(\sqrt{2}) &= -\frac{\pi}{2\sqrt{2}} \log(2 + 2\sqrt{2}), \\
\sigma_2(\sqrt{3}) &= -\frac{4\pi}{3\sqrt{3}} \log 2, \\
\sigma_2(2) &= -\frac{\pi}{8} \log 2 - \frac{\pi}{2} \log(1 + \sqrt{2}), \\
\sigma_2(\sqrt{5}) &= -\frac{\pi}{\sqrt{5}} \log(1 + \sqrt{5}),
\end{aligned}$$

$$\begin{aligned}
\sigma_2(\sqrt{6}) &= -\frac{\pi}{2\sqrt{6}} \log 2 + \frac{\pi}{3\sqrt{6}} \log(1 + \sqrt{2}) - \frac{\pi}{2\sqrt{6}} \log(2 + \sqrt{3}) \\
&\quad - \frac{\pi}{2\sqrt{6}} \log(\sqrt{2} + \sqrt{3}), \\
\sigma_3(1) &= -\frac{\pi}{2} \log 2, \\
\sigma_3(\sqrt{2}) &= -\frac{\pi}{2\sqrt{2}} \log(-2 + 2\sqrt{2}), \\
\sigma_3(\sqrt{3}) &= -\frac{\pi}{3\sqrt{3}} \log 2 + \frac{\pi}{2\sqrt{3}} \log(2 + \sqrt{3}), \\
\sigma_3(2) &= -\frac{\pi}{8} \log 2 + \frac{\pi}{2} \log(1 + \sqrt{2}), \\
\sigma_3(\sqrt{5}) &= -\frac{2\pi}{\sqrt{5}} \log 2 + \frac{\pi}{2\sqrt{5}} \log(3 + \sqrt{5} + 2\sqrt{2 + 2\sqrt{5}}) \\
&\quad + \frac{\pi}{\sqrt{5}} \log(1 + \sqrt{5}), \\
\sigma_3(\sqrt{6}) &= -\frac{\pi}{2\sqrt{6}} \log 2 + \frac{\pi}{3\sqrt{6}} \log(1 + \sqrt{2}) + \frac{\pi}{2\sqrt{6}} \log(2 + \sqrt{3}) \\
&\quad + \frac{\pi}{2\sqrt{6}} \log(\sqrt{2} + \sqrt{3}).
\end{aligned}$$

The tables in [6] and [10] enable us to determine $\sigma_1(b), \sigma_2(b), \sigma_3(b)$, where $b = \sqrt{\lambda}$, for all positive integers λ in the range $1 \leq \lambda \leq 100$ (except $\lambda = 53, 54, 59, 61, 74, 79, 83, 86, 87, 89, 95$) as well as for certain values of $\lambda > 100$. For example, as $\sqrt{2} f_1(\sqrt{-58})^2 = 5 + \sqrt{29}$ [10, p. 723], we have $g_{58}^2 = \frac{5+\sqrt{29}}{2}$ by (15) so that $\log(2g_{58}^4) = \log(27 + 5\sqrt{29})$ and thus by Theorem 3

$$\sum_{m,n=-\infty}^{\infty} \frac{(-1)^m}{m^2 + 58n^2} = -\frac{\pi}{\sqrt{58}} \log(27 + 5\sqrt{29}),$$

a result which is stated explicitly in [11, p. 1225].

We remark that by applying Theorem 2 to the obvious relation

$$\sum_{n=1}^{\infty} \frac{1}{n \sinh(b\pi n)} + \sum_{n=1}^{\infty} \frac{(-1)^n}{n \sinh(b\pi n)} = \sum_{n=1}^{\infty} \frac{1}{n \sinh(2b\pi n)},$$

we get the first of Ramanujan's properties in (9), namely,

$$g_{4\lambda} = 2^{1/4} g_{\lambda} G_{\lambda}. \quad (25)$$

Then, from (19) and (25), we obtain

$$G_{4\lambda} = \left(\frac{8g_\lambda^{12}G_\lambda^{12} + \sqrt{64g_\lambda^{24}G_\lambda^{24} + 1}}{4g_\lambda^4G_\lambda^4} \right)^{1/8}. \quad (26)$$

Formulae (25) and (26), in conjunction with Theorem 3, allow us to determine $\sum'_{m,n=-\infty}^{\infty} \frac{(-1)^m}{m^2+4\lambda n^2}$, $\sum'_{m,n=-\infty}^{\infty} \frac{(-1)^{m+n}}{m^2+4\lambda n^2}$, and $\sum'_{m,n=-\infty}^{\infty} \frac{(-1)^n}{m^2+4\lambda n^2}$ from g_λ and G_λ .

By subtracting (11) from (10) in Theorem 2, we obtain

$$\sum_{n=0}^{\infty} \frac{1}{(2n+1) \sinh(b\pi(2n+1))} = \log(G_{b^2}/g_{b^2}),$$

so that for example

$$\sum_{n=0}^{\infty} \frac{1}{(2n+1) \sinh(\pi(2n+1))} = \frac{1}{8} \log 2.$$

Adding (12), (13) and (14) in Theorem 3, we obtain

$$\sum'_{m,n=-\infty}^{\infty} \frac{(-1)^m + (-1)^n + (-1)^{m+n}}{m^2 + \lambda n^2} = -\frac{2\pi}{\sqrt{\lambda}} \log 2. \quad (27)$$

This result can also be obtained directly as a simple consequence of Kronecker's limit formula ([2] or [8, p. 14])

$$\lim_{s \rightarrow 1^+} \left(\sum'_{m,n=-\infty}^{\infty} \frac{1}{(m^2 + \lambda n^2)^s} - \frac{\pi}{\sqrt{\lambda}} \frac{1}{s-1} \right) \text{ exists.} \quad (28)$$

For $s > 1$ we have

$$\begin{aligned} \sum'_{m,n=-\infty}^{\infty} \frac{(1+(-1)^m)(1+(-1)^n)}{(m^2 + \lambda n^2)^s} &= \sum'_{m,n=-\infty}^{\infty} \frac{4}{((2m)^2 + \lambda(2n)^2)^s} \\ &= \frac{1}{2^{2s-2}} \sum'_{m,n=-\infty}^{\infty} \frac{1}{(m^2 + \lambda n^2)^s}, \end{aligned}$$

so that

$$\sum'_{m,n=-\infty}^{\infty} \frac{((-1)^m + (-1)^n + (-1)^{m+n})}{(m^2 + \lambda n^2)^s} = \left(\frac{1}{2^{2s-2}} - 1 \right) \sum'_{m,n=-\infty}^{\infty} \frac{1}{(m^2 + \lambda n^2)^s}.$$

Now for s close to 1 we have

$$\frac{1}{2^{2s-2}} - 1 = -2(\log 2)(s-1) + O((s-1)^2),$$

and by (28)

$$\sum'_{m,n=-\infty}^{\infty} \frac{1}{(m^2 + \lambda n^2)^s} = \frac{\pi}{\sqrt{\lambda}} \cdot \frac{1}{s-1} + O(1),$$

so that

$$\left(\frac{1}{2^{2s-2}} - 1 \right) \sum'_{m,n=-\infty}^{\infty} \frac{1}{(m^2 + \lambda n^2)^s} = \frac{-2\pi \log 2}{\sqrt{\lambda}} + O((s-1)).$$

Letting $s \rightarrow 1^+$ we obtain (27).

Finally we mention that by applying Theorem 1 to positive-definite, binary quadratic forms $am^2 + bmn + cn^2$ other than $m^2 + \lambda n^2$ we can obtain results like

$$\sum'_{m,n=-\infty}^{\infty} \frac{(-1)^m}{m^2 + mn + n^2} = -\frac{4\pi}{3\sqrt{3}} \log 2.$$

References

1. P. Bundschuh, *Zur Note von Lehmer über eine Konstante von Erdős-Turan*, Analysis 4 (1984), 263-266.
2. L. Kronecker, *Zur Theorie der elliptischen Functionen*, Werke, Vol. 4 (pp. 345-495) and Vol. 5 (pp. 3-132), Chelsea Publishing Co., New York, N.Y., 1968.
3. D. H. Lehmer, *On a constant of Turan and Erdős*, Acta Arith. 37 (1980), 359-361.

4. Li Jian Lin, *On a series of Erdős-Turan type*, Analysis 12 (1992), 315-317.
5. L. G. Lucht, *Summation of a series of Erdős-Turan*, Analysis 6 (1986), 411-412.
6. S. Ramanujan, *Modular equations and approximations to π* , Quart. J. Math. 45 (1914), 350-372. (Collected papers of S. Ramanujan, Chelsea Publishing Co., New York, N.Y., 1962, pp. 23-29.)
7. W. Schwarz, *Another evaluation of an Erdős-Turan constant*, Analysis 5 (1985), 343-345.
8. C. L. Siegel, *Advanced Analytic Number Theory*, Tata Institute of Fundamental Research, Bombay, 1980.
9. P. Turan, *Combinatorics, partitions, group theory*, Coll. Inter. Theorie Comb. Roma 1973. II (1976), 181-200.
10. H. Weber, *Lehrbuch der Algebra* (Vol. 3), Third Edition, Chelsea Publishing Company, New York, N.Y., 1961.
11. I. J. Zucker and M. M. Robertson, *A systematic approach to the evaluation of $\sum_{(m,n \neq 0,0)} (am^2 + bmn + cn^2)^{-s}$* , J. Phys. A. Math. Gen. 9 (1976), 1215-1225.
12. I. J. Zucker, *The evaluation in terms of Γ -functions of the periods of elliptic curves admitting complex multiplication*, Math. Proc. Camb. Phil. Soc. 82 (1977), 111-118.